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PHENIX 19617

PHENIX 19617: Hor 2Gauss fit (set)

<

x10° %2 1 ndf 11.62/9
C 1stMax 4.847e+04 + 1.85e+04
C maxPos -0.003735+ 0.001459
- 1stWidth 0.1577 + 0.02199
C 2ndMax 6.184e+04 + 1.852e+04
— 2ndWidth 0.2593+ 0.01734
C constant 1142+ 185.7
= | L

1 -0.5

5
set displacement (mm)

PHENIX 19617: Hor 2Gauss fit (meas)

%2 I ndf 13.51/9
1stMax 4.974e+04 + 3.649e+04
maxPos -0.004848 + 0.001499
1stWidth 0.1741+ 0.03709
2ndMax  6.043e+04 £ 3.498e+04

2ndWidth 0.2702+ 0.03335
constant 1110+ 3184

0.5 1
meas displacement (mm)
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PHENIX 19617: Vert 2Gauss fit (set)

¥2 I ndf 1.938/9
1stMax 3.187e+04 + 1.802e+04
maxPos 0.004967 + 0.002088
1stWidth 0.1489+ 0.03526
2ndMax  7.638e+04 + 1.811e+04
2ndWidth 0.255+ 0.01392

constant 1074+ 179.2

<

5
set displacement (mm)

PHENIX 19617: Vert 2Gauss fit (meas)

%2 I ndf 0.7458/9
1stMax 2.787e+04 + 2.132e+04
maxPos 0.002748 + 0.0021
1stWidth 0.1562+ 0.04542
2ndMax  8.053e+04 £ 2.125e+04
2ndWidth 0.2599+ 0.01523

constant 1022+ 198.2

Prelim: xsec = 9.97 ba

0.5 1
meas displacement (mm)
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STAR 19606

STAR 19606: Hor 2Gauss fit (set)

x2 / ndf

1stMax
maxPos
1stWidth
2ndMax
2ndWidth
constant

6.226e+04 £ 1.244e+04
-0.001551+ 0.0005105

1.686e+04 £ 1.176e+04

10.94/9

0.1934 + 0.009787

0.3179 £ 0.07084
420.3+ 527.6

-0.5 0 0.5

1

set displacement (mm)

STAR 19606: Hor 2Gauss fit (meas)

x2 / ndf

‘HII‘\III‘III\|IIH|IHI‘\II\‘IIH|IHI|HII‘H

1stMax
maxPos
1stWidth
2ndMax
2ndWidth
constant

16.83/9

7.215e+04 + 793.9
0.001762 + 0.0005314
0.2193 £ 0.001374
7422+ 804.2

0.4161+ 0.01205
3.864e-06 + 888.4

|
-0.5 0 0.5

1

meas displacement (mm)

Prelim: 9.17 ba
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STAR 19606: Vert 2Gauss fit (set)

%2 | ndf

1stMax
maxPos
1stWidth
2ndMax
2ndWidth
constant

2646/9

4.102e+04 +1.584e+04
-0.0009756 + 0.0006682

0.1749 + 0.01481

4.02%e+04 +1.551e+04

0.2571 £ 0.01871
628.8 + 106.5

-0.5 0 05

1

set displacement (mm)

STAR 19606: Vert 2Gauss fit (meas)

¥ 7 ndf

1stMax
maxPos
1stWidth
2ndMax
2ndWidth
constant

244279

7.646e+04 + 970.5
-0.001301+ 0.0006677
0.2206 £ 0.001713
5534 +978.8

0.4199 +0.01984
0.0006614 + 1439

-0.5 0 05

1

meas displacement (mm)




Corrected rates, 19606
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